XEI7+—ZLFEBH - Fv 3 —FEE
XHS : ¥+ 51— 5000mm HEZE 2650mm

EYFr—L—L{uE : 13000
XS5 1)— H5000mm - 3500mm
MBE <EME>H650m <FE@EE>H2380m | o Cr b 1650 1
K74 T<JLE>H2700mm < FEE > H2700mm 8330
Al D averbr@ [ D avEV R : N """
Bl - EvFr—L—0 : i
7777777777777 2 370 3 i '#"V 5 IJ _M‘TEE ng
C : @ I»—%
— j‘“ =
\Lc 840 1370 E;ggﬂ%
b H=2420 (FRARKE) o IS
R H=2420 &
AV S
R [ — e
I g
S = — =
=1 i
i L
L | e HE
g 8 i !
< i i E': L
o i ® (0] [0} \: i
2 (T : Hies
i !
° : e
1 |
- il T [l
! =
3 i o
< g i
3 U ko i 1
! 2
!
g% 7 4 o m | 7 4 1 -
T 1 M =
ﬁ:[ | ]
1 I |
\i HE
Al 153
! £ |
[ ! H
(HkigHY) --+----- ] - | Hl
i &5 |
1 T E 1
N B
_F K 1
|
4 A
[0) @ ? i
o | i
2 i
i I
| e
!
I C I i
A I = I A i
. = 2 e e i
Eﬂ + A e +
I A =L
= 5700 2600 4600 |
H =3000
RE=4 FIAR w] EhEE
FEREEL 0% (£@) A 3900mm(4%0) B 4600mm (1#%)
028 (D) 028 (E) C 5200mm(2#%) D  5700mm (1#%)
B£[E  200mm
| ~ 1) 1 2IF
HI AR = A B ) |:|3§: (A+B) D3% (B+C) " KABEORANEERICET 2ERUAEEOAER L
B B ( ) D42 (A) D42 (B)  [A4E (C) | meenpysmis. 00mMAECET,




X7+ —FLEBH-FrIY

—FEE

XHE : ¥+ 35— 5000mm KtEE 2650mm

EVFv—
F+51)— H5000mm - 3500mm

MEE <ENEE>H2650mm <FErE > H2380mm
K74 T<JLE>H2700mm < FEE > H2700mm

L—ILILE :

13000

1740

EYFv—L—IL 1650x 7&K

Al D

avey @) | ) [avey k&

Bl -

EYFv—L—IL

Fv3U—HREE

-

-

@ R
L b
AP .
[ [ e
:
,,,,,,,, 2l ———— = — = —
i il | T
ol | @ =Rk
2]l i T
> D o
HoRmaz L
g« [ P ® d :]
T : :
= | e | | i
S /ﬂ} J: ] ]
[ A [ C [ A | il
3 s :(; i ~8
ETrT e - - ‘ i :]
T 1] A !
! u .
I ol B E
| E |
| Q b
B 3 ? (7 E H:
o .
; 2 S e —— : i
I #WmAD =L
= 5700 2600 4600 i
H=3000
BRES% AR Al EfEE
FEEL O1% (£m) A 3900mm(4%2) B 4600mm (1#%)
028 (D) O2% (E) C 5200mm(2#%) D  5700mm (1#%)
BEE
~ 1 1) i]; 200mm
R F A A ) D32 (A+8) O3 (B+C) KAPEORANEEECHET 2ARVCAHEDOAIRE LA
A g ( ) O4% (A)  O4% (B) DO4% (C)

EEEAEYT 2E. SLOBRMAELET,




XETA—5 LEFEBH - XvS5U—FEE

XHE : ¥+ 35— 5000mm KtEE 2650mm

EYVFv—L—ILE :
X+ 5 1)— H5000mm - 3500mm

20 _ 13200
MBE <ZPEE>H2650m <FEmE>H2380m | o s L o0 T
R4 T<JLEm>H2700mm <FHE > H2700mm
Al D avterr@ | O aveyR@® .”‘
Bl - EvFr—L—0 i i
| ¥rsU—WEE
: @ I»—%
L N
v .
rrrrrrrrrrrrrr S
St
2l ; e e =
foaw [ iﬁ i T
< \>> 1l ® @ ® E': I g
]! 5 1
] g3 i
i T ]
: : : i 1
Hl okoqT
é% 0 o 0 é\i 8
i : Lo
| | i
3 ~ll LT
(kR Y) |- - _ B+C | 1
| S ;
l I |
i 4] -
= ! i
i 4 jl
g: [) [0) [) | H:
I 2 P =B ___° : i
5 A b2 %
il #AD =L
5700 2600 4600
H=3000
BEx4 FIRAR 5 CEES
HEES O1& (2@ A 3900mm(4#x) B 4600mm (1#%)
028 (D) O2% (E) C 5200mm(2#x) D 5700mm (14%)
BE[Z  200mm
| ~ ul 1] =2iIF
FIFRAA * R B ) DS% (A+B) D3% (B+C) \ XAWEOREHFEEECHT ZERUADEOHERL
B B ( ) D42 (A) D4E (B) D4R (C) | meesressms. sroRMaECET,




XETA—5 LEFEBH - XvS5U—FEE

13000

XHE : ¥+ 35— 5000mm KtEE 2650mm

EYVFv—L—ILE :
F+51)— H5000mm - 3500mm
MEE <ENEE>H2650mm <FErE > H2380mm

1740

EYFv—L—IL 1650x 7&K

K74 T<JLE>H2700mm < FEE > H2700mm

Al O lavevr@® | @ avEy R
Bl - EvFr—L—0

Fv3U—HREE

-

-

o] -z
L b
AV oq
o
[ LS
""" < = e
foa i 1
: { Il 1
; <%>> ® @ : : T
. i éi‘ i )
| - A+B | g
| T w74 | i
g% 3 . : @i !
i : |
i 1 I |
T | ik
CHXRRBHY) --F----- : O : Hi
sy BT |
I ¥ | |
I ‘ BE
¥ e — :
d y
& e T : i g
e S N s B 0 1 E """" SRR
wan 1t
- 5700 2600 4600 T
H=3000
RE=4 FIAR .
HRES O1% (&) A 3900mm(4%) B 4600mm (1%
0288 (D) D28 (E) C  5200mn(24%) D 5700mn (1%)
B¥[E  200mm
| ~ 4 ) BHIZ
IR - B BC ) 032 (A+8) OO (B+0) B wom
A B ( ) O4% (A)  D4E (B) D4E (C) | mompss 5@t 5boRMAE LT




X TA—S5LEBH - XS5 —TEAR 13200

XHE : ¥+ 35— 5000mm KtEE 2650mm

EYVFv—L—ILE :
F+51)— H5000mm - 3500mm
MEE <ENEE>H2650mm <FErE > H2380mm

1740 EVFr—L—IL 1650x 7K
K74 T<JLE>H2700mm < FEE > H2700mm

Al D avterr@ | O aveyR@® |
Bl - EvFr—L—N oy

-

FrSU—MEE
n/

15
I
plim—n

052y

Nl
N
\:
\l:

(M @IXYE
0€8

1300
EL=

p -

4660
1720

iy

00%9

1310
N\
)
NS
=1

1700
=2470

1]
H
I
F—k

pma i

2520
2080

HloAoqx

p -

2470
0029

1700
H=

1

I I
rim—

2050

o0
Sl
Sl
VY (1 Sy gy Sy Sy
I I
im—

I I
T

GEddEBY) | ;

2410

=)
1700

I
H

I I
po—

000L

I I
p oo

5300

@

Y (1

| i ke

4//A\\EE -
I #HAD =L

5700 2600 4600
H =3000

T

RE24% AR AIEpEE

T 012 (£@) A 3900mm (4% B 4600mm (14%)
HRES 028 (D) O2% (E) C 5200mm(2#0) D 5700mm (14%)

BE[E  200mm
| ~ 1 1 2=IF
FI AR 2 A BC ) O3% (A+B) O3% (B+C) e BB RS 4 S B3 B

B B ( ) D42 (A) D42 (B) D4R (C) | mrespsrmz. 00BMALCET,




